ooooboooon

g og
gg 210 110 20

1. 0000

goooooooooo,obobooooboooogoo
g.00obogboobobg,booboobobobobo
gobooo. gbobbooobboobbgoobobooo
go.ogooboo,0boobooobooboon.

2. 000D

00 A,0000 w,0000 ¢000 2(¢) 000
0000000000. 00,0000 cos, sin 000
00 ¢ sO00000.

z(t) = Ac(wt + ¢) (1)

ooobOooooboooooooooo,0oooooon
gboobooooooo0o. obobooboboogo
O0O00UoO0O,000000 z2(t)boOo.ooooo,
gboooooooooobooobo.joooon.

2(t) = A{c(wt + ¢) + js(wt + @)} = AW (2)

000 A0O00O0OOoO.opoooooooo,ooo
oobooobooooboooboooooo.ooo,obo
00000000 (D0O0)0o0.o00ooooo

e 000 0000000 DODOOD.
e 000 ¢9O0DOOOOD, P 0D00DDDOODODO.
e 000 jw,000 1/jwODOOOODODOOO.

0000000000,00000000.00000
000000000000000000,000000
00000000 1/jwC 000000000,
0000,0000 2(¢)00«(t) 00000000
0000,000000. () 00000000000
00000,000000000000

A . )
z(t) 3 {e.l(UJt+¢) + eﬂ(wtﬂb)} (3)

000000000000000000000000
00000000000.00,2(¢) 00000000
000000. 0000000,0000 =)0 2()
000000000000000000000. OO
00,00000000000000000000

3. 0O00ooOoooonond

31 00000
0D000000,00000000000

ooooo

z1(t) + z2(t) = Ar c(wit + ¢1) + Asc(wat + ¢2)  (4)

oDooooo

21(t) + 22(t) = Ay 11T91) 4, el(w2lto2)
= A c(w1t+¢1) + As C<w2t+¢2) (5)
+i{Ars(wit + ¢1) + Az s(wat + ¢2)}

0

32 0000
obooooooo,obobobooboobooooon.

gboooo
xl(t) i) (t) = Al Cwlt A2 Cw2t

A4
T2

{c(w1 + wa)t + c(wy — wa)t} (6)

oooooo
Z1 (t) zZ92 (t) = A1 ejwlt A2 ejngt
= Ay Ay ellwrtewn)t
= A1 As{c(w1 + wa)t + js(w1 + w2)t} (7)

goooooooooooooooboo.bog *o
goooooo.

1 (t) xa(t) = % {z21(t) z2(t) + 21() 22(1)}  (8)

33 000

000 (DOoo0ooOoUooOoooOo)oouoooo
ugbo,00000000000000. ODOoO0DbOOoo
0oooo0,000000000 (booooooo
ooooo)ooooooooOoO ‘oo’ ooo
gboooodoo. 000 wi =w=w 000, 0o
T=2r/w00O00O00O.

googn

T
% /0 21 (8) o (1) dt

1 /T
f/o Aj c(wt + ¢1) Az c(wt + ¢2) dt

A4
T2
oooooo

%-/0 Z1 (t) Zz(t) dt

c(¢1 — ¢2) 9)

I .
= / Ay @) A, ol@HH92) g = 0 (10)
0

gogbooboobooboboobuoobooboo
go.bgoobooboobooboobooobg.

T
o SOERCE T L T

00000000 4/v2, 4,//200000000
0000000000000 000. 0000000
0000 (0O0: VA)OOO. 00 c(éd —¢p) OOD,
0000 xO00OO0D0O000 (00: W)ooOd.



